
Power Designers USA LLC
4005 Felland Drive, Suite 116  •  Madison, WI 53718 USA 

+1.608.231.0450  •  www.powerdesigners.com
Power Designers USA LLC reserves the right to incorporate design and material changes without notice or obligation.

Design features, materials of construction and dimensional data are provided for your information 
 only and should not be relied upon unless confirmed from Power Designers USA LLC.

ISSUED: 11/2016 RV-5X-FS 
COPYRIGHT © 2016 Power Designers USA LLC

Item # Description Qty

1 Column 2

2 Foot 4

3 Connector Plate 2

4 Arm 4

5 Hex Cap Screw 5/16” - 18, 4” 8

6 Hex Cap Screw 5/16” - 18, 1.5” 4

7 Hex Cap Screw 5/16” - 18, 3/4” 8

8 Washer, 5/16” 32

9 Nut 5/16 - 18 16
Assemble left and right feet to 
column as shown.   
Note orientation of holes on column.  
Hand tighten only.

STEP 1

Column

4" Bolts

Washers

Nuts

1

2
2X

8
4X

9
2X

5
2X

Feet

STEP 2

Assemble front and back Feet to Column
as shown.
Hand tighten only.

5
2X

8
4X

9
2X

2
2X

This will be the
Front 

side of the
mounted Charger

Rear Foot may be
deleted if mounting
against wall, or if
back-to-back stands
are desired.

STEP 1 Assembled STEP 2 Assembled

Assemble left and right Feet to Column
as shown.  Note orientation of holes on column.
Hand tighten only.

Once this step is complete, it is recommended that the stand be placed
in the intended mounting location and anchored to the floor.  The Column
should be adjusted to vertical prior to tightening the fasteners to 10 ft-lbs.

REVISION HISTORY
REV. ECN # DESCRIPTION DATE APPROVED 

BY
A 001109 Initial Release Black version 10-27-16 RG

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:1 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand LBS

WEIGHT

SHEET 1 OF 4

Power  Designers USA LLC

RG

STEP 1

Column

4" Bolts

Washers

Nuts

1

2
2X

8
4X

9
2X

5
2X

Feet

STEP 2

Assemble front and back Feet to Column
as shown.
Hand tighten only.

5
2X

8
4X

9
2X

2
2X

This will be the
Front 

side of the
mounted Charger

Rear Foot may be
deleted if mounting
against wall, or if
back-to-back stands
are desired.

STEP 1 Assembled STEP 2 Assembled

Assemble left and right Feet to Column
as shown.  Note orientation of holes on column.
Hand tighten only.

Once this step is complete, it is recommended that the stand be placed
in the intended mounting location and anchored to the floor.  The Column
should be adjusted to vertical prior to tightening the fasteners to 10 ft-lbs.

REVISION HISTORY
REV. ECN # DESCRIPTION DATE APPROVED 

BY
A 001109 Initial Release Black version 10-27-16 RG

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:1 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand LBS

WEIGHT

SHEET 1 OF 4

Power  Designers USA LLC

RG

Step 1 Step 2
Assemble front and back feet to 
column as shown.  
Hand tighten only.

STEP 3

Connector
Plates

3/4" Bolts

Washers

3
2X

7
4X

8
4X

STEP 3 Assembled STEP 4

1

8
4x

7
4x

Washers

3/4" Bolts

Column

STEP 4 Assembled

Assemble Connector Plates to 
lower Column as shown.
Hand tighten only.

Assemble Connector Plates to lower Column as shown.
Hand tighten only.
Verify upper Column is vertical and flush with lower Column.
Tighten all fasteners to 10 ft-lbs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand

 LBS
WEIGHT

SHEET 2 OF 4
RG

Power  Designers USA LLC

STEP 3

Connector
Plates

3/4" Bolts

Washers

3
2X

7
4X

8
4X

STEP 3 Assembled STEP 4

1

8
4x

7
4x

Washers

3/4" Bolts

Column

STEP 4 Assembled

Assemble Connector Plates to 
lower Column as shown.
Hand tighten only.

Assemble Connector Plates to lower Column as shown.
Hand tighten only.
Verify upper Column is vertical and flush with lower Column.
Tighten all fasteners to 10 ft-lbs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand

 LBS
WEIGHT

SHEET 2 OF 4
RG

Power  Designers USA LLC

STEP 5

4
2X

5
2X

8
4X

9
2X

Nuts

Washers

4" Bolts

Arms

STEP 6

9
2X

8
4X

5
2X

4
2X

Use lower set
of mounting
holes

STEP 5&6 Assembled

Assemble Arms to upper Column as shown.

Tighten all fasteners to 10 ft-lbs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand LBS

WEIGHT

SHEET 3 OF 4

Power  Designers USA LLC

RG

STEP 7 Assembled

STEP 7

9
4X

8
4X

6
4XNuts

Washers

1.5" Bolts

DO NOT MOUNT THE CHARGER
UNLESS THE FEET HAVE BEEN

PROPERLY ANCHORED!

Fasten Charger to Arms as shown.
Tighten all fasteners to 10 ft-lbs.

9
4X

8
4X

Complete electical installation
(see manual) and replace
Charger cover.

Pogo
mounting
holes

Assemble Fasteners to Arms as shown,
to create studs for mounting the Charger.

Tighten all fasteners to 10 ft-lbs.

Remove Charger cover, and
hang Charger on studs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand

 LBS
WEIGHT

SHEET 4 OF 4

Power  Designers USA LLC

RG

STEP 5

4
2X

5
2X

8
4X

9
2X

Nuts

Washers

4" Bolts

Arms

STEP 6

9
2X

8
4X

5
2X

4
2X

Use lower set
of mounting
holes

STEP 5&6 Assembled

Assemble Arms to upper Column as shown.

Tighten all fasteners to 10 ft-lbs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand LBS

WEIGHT

SHEET 3 OF 4

Power  Designers USA LLC

RG

STEP 7 Assembled

STEP 7

9
4X

8
4X

6
4XNuts

Washers

1.5" Bolts

DO NOT MOUNT THE CHARGER
UNLESS THE FEET HAVE BEEN

PROPERLY ANCHORED!

Fasten Charger to Arms as shown.
Tighten all fasteners to 10 ft-lbs.

9
4X

8
4X

Complete electical installation
(see manual) and replace
Charger cover.

Pogo
mounting
holes

Assemble Fasteners to Arms as shown,
to create studs for mounting the Charger.

Tighten all fasteners to 10 ft-lbs.

Remove Charger cover, and
hang Charger on studs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand

 LBS
WEIGHT

SHEET 4 OF 4

Power  Designers USA LLC

RG

STEP 7 Assembled

STEP 7

9
4X

8
4X

6
4XNuts

Washers

1.5" Bolts

DO NOT MOUNT THE CHARGER
UNLESS THE FEET HAVE BEEN

PROPERLY ANCHORED!

Fasten Charger to Arms as shown.
Tighten all fasteners to 10 ft-lbs.

9
4X

8
4X

Complete electical installation
(see manual) and replace
Charger cover.

Pogo
mounting
holes

Assemble Fasteners to Arms as shown,
to create studs for mounting the Charger.

Tighten all fasteners to 10 ft-lbs.

Remove Charger cover, and
hang Charger on studs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand

 LBS
WEIGHT

SHEET 4 OF 4

Power  Designers USA LLC

RG

Once this step 
is complete, it is 
recommended that 
the stand be placed 
in the intended 
mounting location 
and anchored 
to the floor.  The 
column should be 
adjusted to vertical 
prior to tightening 
the fasteners to 10 
ft-lbs.

Step 3
Assemble connector plates 
to lower column as shown.
Hand tighten only.

Assemble connector plates to lower 
column. Hand tighten only.
Verify upper column is vertical and flush 
with lower column.
Tighten all fasteners to 10 ft-lbs.

Step 4
Assemble arms to upper column as shown.
Tighten all fasteners to 10 ft-lbs.

Step 5 Step 6 Step 7
Assemble fasteners to 
arms, to create studs for 
mounting the charger.
Tighten all fasteners to 
10 ft-lbs. 

STEP 7 Assembled

STEP 7

9
4X

8
4X

6
4XNuts

Washers

1.5" Bolts

DO NOT MOUNT THE CHARGER
UNLESS THE FEET HAVE BEEN

PROPERLY ANCHORED!

Fasten Charger to Arms as shown.
Tighten all fasteners to 10 ft-lbs.

9
4X

8
4X

Complete electical installation
(see manual) and replace
Charger cover.

Pogo
mounting
holes

Assemble Fasteners to Arms as shown,
to create studs for mounting the Charger.

Tighten all fasteners to 10 ft-lbs.

Remove Charger cover, and
hang Charger on studs.

CAD GENERATED DRAWING,
DO NOT MANUALLY UPDATE

SIZE CAD FILE:

DWG.  NO.

B

REV.DATEDRAWN

UNLESS  OTHERWISE  SPECIFIED
DIMENSIONS  ARE  IN  INCHES
TOLERANCES  ARE:
X.X      =  .05
X.XX    =  .015
X.XXX  =  .005
ANGLE ± 1°
MATERIAL

FINISH

DO  NOT  SCALE  DRAWING

THE  INFORMATION  CONTAINED
IN  THIS  DRAWING  IS  THE  SOLE  
PROPERTY  OF 
ANY REPRODUCTION IN PART OR
WHOLE WITHOUT THE WRITTEN
PERMISSION OF 
IS PROHIBITED.

100-000513-10 A10-27-16
SCALE 1:4 100-000513-x0_A Assy 5X Floor Stand

Assy
5X Floor Stand

 LBS
WEIGHT

SHEET 4 OF 4

Power  Designers USA LLC

RG

Step 8
Remove Charger cover and hang charger on studs. 
Fasten charger to arms as shown.
Tighten all fasteners to 10 ft-lbs.. 
Complete electical installation (see manual) and 
replace charger cover.

DO NOT MOUNT 
THE CHARGER 
UNLESS THE 
FEET HAVE 
BEEN PROPERLY 
ANCHORED.

5X Floor Stand Assembly Instructions


